
Kit includes
(1) CE-99001B .................................................36” Antirock® Bar
(1) CE-9900JLFL .............................................Frame Mounting Bracket (L)
(1) CE-9900JLFR .............................................Frame Mounting Bracket (R)
(2) CE-99003-JKL ...........................................Antirock® Steel Arm
(2) CE-9901D...................................................Antirock® Bushing
(4) CE-98093A624 .........................................M10 x 1.5mm x 30mm Bolt
(2) CE-92620A607 .........................................5/16”-24 x ¾” Bolt
(2) CE-91090A111 .........................................5/16” Washer
(2) CE-91102A755 .........................................5/16” Lock Washer
(2) CE-91257A661 .........................................3/8”-24 X 2 ½” Bolt
(2) CE-95615A150 .........................................3/8”-24 Nylock Nut
(2) CE-9901RD4 .............................................8 1/2” End Link Rod
(1) CE-99006 ...................................................End Link Studded Heim (RH)
(1) CE-99006B .................................................End Link Thru-Bolt Heim (RH)
(2) CE-99006L .................................................End Link Studded Heim (LH)
(4) CE-95615A220 .........................................½”-20 Nylock Nut
(2) CE-95462A525 .........................................½”-20 Jam Nut (RH Thread)
(2) CE-H0020 ...................................................½”-20 Jam Nut (LH Thread)
(1) CE-91257A751 .........................................½”-20 x 3” Grade 8 Bolt
(2) CE-H0014 ...................................................½” Flat Washer
(2) CE-9900JLFS .............................................Heim Spacer
(2) CE-9900S ...................................................ANTIROCK® StickerRequired Tools

- 15mm wrenches & sockets 
- 18mm wrenches & sockets

Instructions
*** Notes: for this install vehicle should be unloaded and on fl at, level ground. Use blue loctite on all hardware that you install. ***

1) Remove the factory front anti-sway bar and links using a 15mm socket at the frame and and 18mm socket and wrench at the housing tab.
2) Knock the white Antirock® bushings into the frame brackets from the sides of the brackets that have the protruding hubs. (Fig. 1)
3) Using the supplied 10mm bolts, some blue loctite and a 14mm socket, install the frame brackets to the bottoms of the frame rails, protruding
     hub side facing out. Tighten and torque brackets to 40 ft. lbs. NOTE: all frames have variances! In our instance, the leading edge of the
     driver’s side bracket contacted a frame bracket weld and we had to grind the weld down a touch for clearance. (Fig. 2)
4) Grease the insides of the white bushings and both ends of the sway bar and then install the bar thru the 2 bushings. Center the bar in the bushings.
     This step will most likely require the use of a mallet. (Fig. 3)
5) Install the 2 black Antirock® arms onto the sway bar splines. Make sure to clock the arms the same from side to side. Use the 5/16” bolts, lock
     washers & fender washers into the threaded holes at the ends of the bar to retain the arms to the bar. Next, install the 3/8” bolts and nyloc nuts
     into the ends of the arms and tighten with a 9/16” wrench & socket. (Fig. 4)
6) Assemble the end links by putting the jam nuts onto the 8 1/2” rods fi rst, and then thread the heim joints on. Set to 10 1/2” from center to center
     (Fig. 5) See adjustment recommendations on last page.
7) Install and tighten the link with the thru-bolt heim onto the passenger’s side using 5/8” & 3/4” wrenches at the top (Fig. 6) and a 3/4 socket and

Fits
- All models of 2018 & up Jeep JL Wrangler

- Mallet
- Blue loctite

- 1/2” wrench
- 9/16” wrenches & sockets

- Tape Measure- 11mm or Crescent wrench
- 14mm sockets

- 5/8” wrench
- 3/4” wrenches & sockets



      wrench at the housing side. NOTE: install the heim joint spacers, small side toward the heim, on both sides of the lower heim when installing! (Fig. 7)
8) When installing the driver’s side link, adjust it’s length as necessary to allow it to slide in freely so as not to preload the sway bar. Then tighten
     the link to the sway bar arm and the housing tab using 5/8” & 3/4” wrenches. (Fig. 6)
9) Lock down the end link jam nuts with an 11mm or Crescent & a 3/4” wrench.
10) If you removed your wheels and tires for this installation process, reinstall them now and torque to the factory specs. Congratulations, you’re done!

Fig. 1 Fig. 2

Fig. 3 Fig. 4

Fig. 5



Fig. 6 Fig. 7

Completed installation.

Torque Specs.

M10..............................40 ft. lbs.
5/16”-24.....................20 ft. lbs.

3/8”-24........................35 ft. lbs.
1/2”-20........................85 ft. lbs.

Lug Nuts.....................110 ft. lbs.



Proper Antirock® Adjustment
To correctly adjust a front or rear Antirock sway bar’s end links, the frame of
the vehicle must be raised so that the axle assembly drops out of the vehicle
until it reaches the middle of the vehicle’s available suspension travel. This is
diff erent on every vehicle. Rule of thumb is that the black Antirock arms
should be level when the axle assembly is in the middle of it’s travel.
Secondly, be advised! At full suspension droop, the arm should never drop
down far enough to get anywhere close to forming a straight line with the
end link rod (see diagram to the right). If this situation is occurring, or is
something that you can foresee happening on your vehicle,  you are at risk of
the arm going past center and fl ipping upside-down toward the bumper of
the vehicle. When/if this occurs, the arms, and/or the link rods may be destroyed. This situation can be
prevented by installing longer vertical link rods that are of more suitable length for your application. Longer
link rods are available for purchase separately. Currie will not warranty any arms or end link rods that are
damaged due to this situation.

Available Link Rods: feature 2 1/2” of RH & LH threads (with the exception of the 14” rods that
feature 4” of RH threads) allowing them to be cut down if necessary for an exact fi t in your application.

CE-9901RD3 6.5” long Antirock sway bar link rod
CE-9901RD4 8.5” long Antirock sway bar link rod
CE-9901RD5 10.5” long Antirock sway bar link rod
CE-9901RD2 14” long Antirock sway bar link rod

ffffffff

yed. This situation can be
gth for your application. Longeror
ms or end link rods that areor end lin

ption of the 14” rods that
act fi t in your application.



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


